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16™ International Mathematics Primary Contest (Taiwan)
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12340+65400=77740 » 77740+65400=143140
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82-74=8

8 X30=240
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(B )4 A v st pEiE 828440 22 > 1t B g st g 026 1238 5 360
X o BB SHEE RG22
(A)980 (B)1080 (C)1100 (D)1200 = 2

<fEH7>

28440-360=28080

28080+26=1080

iE Bo

( C )5. Sam, Sandy and Ariel shared a package of candy. Sam took candies
that is % times as much as Sandy. Ariel took candies that is 4 times

as much as Sandy. Sam and Sandy took candies that is of a
package of the candy.

A) 2 ®) = (© & D >

#7%: Sam ~ Sandy {- Ariel " — & =% o Sam 4 I 4% % &_Sandy = &
z_— > Ariel » 3|7 &_Sandy 774 % > Sam {r Sandy 4 ¥|iz ¢ #E% B L
2_ %7
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Sam £ ] 1 i» » Sandy £ ¥] 3 i» » Ariel £ 3] 12 i»

1+3+12=16
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15 X4=60

140-60=80

80+2=40 > ¥ D -
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7 =24+18+16+25+24+23=130
¢ =224+26+18+12+25+25=128
130-128=2 > :£ B -
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555 280 =26
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(B )10. There are six products as graph.

E A w

kcttlc 899 dictionary $66  crayon $24

¢ - =

watches $80  water gun $55  toy car $47

The customer needs to choose two products and to purchase them.
Calculate the sum of their price first and round off (= 3£ 7 » ;%) by

10 dollars. If Sammy chooses six products which is the most cheapest
price. How much is the most cheapest price? (A)350 (B)360 (C)370
(D)380 dollars.
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99+55=154=150

80+24=104=100

66+47=113=110

B 1 150+100+110=360 - i£ B -

( D )L™ 54 @PF]’%J—?
(A)r B & FREE & chw M5 £ 3 ) o
(B)- %iﬁé’lﬁ ¥ - R T Fhe FAGH G A
Oz B &MEF & 2w XL e A5 0134
D) RSHEE 7 ihe Ff 5 T e B

<f%$7>

T B RHEE 7  7

404 R

/

(C)IZJI%‘]ﬁq{%qﬁ-l/':‘ —n+§94’<m
‘Mﬁlﬁ/’ﬁﬁzlﬁ fﬁfai}—\ff I SR BEAE S/ o "
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A T = =

£ hE B A5=62X9=558
¥ ehE 2 45=(40-9) X 9=279
279+558=837
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240x0.3=72
240-80-72=240-152=88 » i£ B -

(A4 B? ] FAL- S Fh4ck Bl
SR B CRFEBBFA? |
(A)15 (B)I6 (C)18 (D)20

<fa 45>

3X3X3=27

27-(143+8)=15 » i A ©

(D )15. The big square by four the same rectangles ,
has a small square in middle. The side of big  12em 4om
square is 12 cm, and the side of small square
is 4 cm. The area of a rectangle is
(A)24 (B)28 (C)30 (D)32 cm®
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<f%$7>

12X12=144

4X4=16

(144-16)+4=128+4=32

la\:-\,

( B)16.100 B fri A 100 B4&EE >~ fod 1 A A 3B o | fod 3 4 4 1
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(A)40 (B)50 (C)45 (D)55 *
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100 %X3=300
300-100=200

200+(9-1)=25
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100-25=75
75-25=50 - % B o

( A )17.»“_,,%\, E’—qu;:ng_»}g - FRE S RIS Y 264 | 11 | 24
(A7 (B) (C)9 (D)12 693 | % | 99
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264+11=24

405+45=9
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(A)202 (B)214 (C)240 (D)281 i
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39X 5+8=203

39 X 6+8=242

39X 7+8=281

39X 8+8=320(% &)

CoMEE T A 203~ 242281 1 o

( C)HI9.5+ ~ = - 7

1,2,1,1,2,3,2,1,1,2,3 4,3
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I AR LR IR
(A)24 (B)26 (C)27 (D)28 i -

<f%$7>
3+5+7+9+3=27 (i)
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( C )20. A square paper fold three times with imaginary line. Hold in upper
left of the paper and open it. What picture is it after opening?
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/1~172~ ... ~ 1310 2/1 272~ Ll ~2/29 5 3/1 ~ ... 0 12/31
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( A )22.° T x+y+z=3, x+y-z=10, x-y=28 > B| x+y+z=?
(A)37 (B)36 (C)35 (D)34
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<fEt7>

A+E=11 > B+C=11» C+D=11

A+C<11

¥ C=9> A=1(% &)

% C=8> A=2> E=9 > B=3 > D=4( & 3+ 26 3f)
& C=8> A=2 > E=9 » B=4 » D=3
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O5-1=4

25X4=100 » =1 pF 40 4~

6 FF 10 & +1 pF 40 & =7 pF 50 &~

@6-1=5

25X5=125 » =2 pF 5 &
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2. Teacher bought 72 the same books and wrote down the sum of books’
price. After back to the school, he found two numbers are unclear. The price
of them is $L.11370L1. You can help fill in the two numbers.

BAEEFE 0 2 AplenE > BT Rl P REFRT S BT
s kA o RAaea g 01370~ > Fi g &5 Bk
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72=8X9

D+1+3+7+l {9 12 i

[1+Hl=7 &
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[1=7-6=1

R #=11376



3.(DFHRE <2,3>=9 1 <3,4>=17 » <4, 5>=27 » <5, 6>=39 » <6, 7>=7
)p = hELfEE
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(1)<2, 3>=2X3+3=9
<3, 4>=3 X 4+5=17
<4, 5>=4X5+7=27
<5, 6>=5X6+9=39
<6, 7>=6 XT7+11=53
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